Exam questions

Urinary


(1) Which one of the following statement is NOT true about the kidney?
(a) Right kidney is lower than the left one
(b) Renal capsule enclose each kidney. 
(c) Ureter, blood supply and nerves enter and exit the kidney via urinary pelvis. 

(d) At the top of each kidney is the adrenal gland. 
(2) Which one of the following is NOT part  the nephron?

(a) Proximal convoluted tubule. 
(b) Collecting ducts.
(c) Bowman’s capsule. 
(d) Distal convoluted tubule. 
(3) Which one of the following is NOT true about Ureter?

(a) Pairs of muscle tubes. 
(b) Extend from renal pelvis to bladder
(c) Carry urine from kidney to bladder. 
(d) Enters in the anterior aspect of the bladder. 
(4) Which one of the following is NOT true about Urinary Bladder?
(a) Collapsible muscular sac to store urine. 
(b) Located in the abdomen. 

(c) Full bladder can holds up to 1000 ml of urine.
(d) Prostate gland in males surrounds the neck of the bladder. 
(5) Which one of the following is NOT true about Urethra?

(a) The internal urethral sphincter is voluntarily.  
(b) A thin walled tube to carry urine from bladder to outside of the body. 
(c) Move urine by peristalsis movement. 
(d) The bladder-urethra junction is formed by smooth muscle. 
(6) Which one of the following is NOT true about Renal Medulla?

(a) It has medullary pyramids. 
(b) Separated from cortex by renal columns. 
(c) It has cup-shaped calyces in the tip of medulla. 
(d) Calyces drain urine into hilus. 
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